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QUESTION 1 
A customer wants to increase capacity utilization and simplify the management of their 
heterogeneous storage environment without adding more disks. Which IBM storage offering best 
meets their needs? 
 

A. IBM ProtecTIER Deduplication Gateway 

B. IBM Tivoli Storage Manager 

C. IBM Storwize V7000 

D. IBM SAN Volume Controller 

 
Answer: D 
 
 
QUESTION 2 
A client is experiencing exponential data growth and is looking for a way to reduce storage costs. 
Which feature of IBM virtual tape best meets their needs? 
 

A. data deduplication 

B. remote replication 

C. multi-path architecture 

D. parallel access tape 

 
Answer: A 
 
 
QUESTION 3 
What is an advantage of file level I/O data storage over block level I/O storage? 
 

A. faster performance 

B. less expensive 

C. fixed file sizes 

D. SCSI command support 

 
Answer: B 
 
 
QUESTION 4 
Which IBM tape library supports both Linear Tape-Open (LTO) and TS1100 tape drives? 
 

A. IBM TS2900 

B. IBM TS3310 

C. IBM TS3100 

D. IBM TS3500 

 
Answer: D 
 
 
QUESTION 5 
According to a 2010 InfoPro survey, what is the number one storage pain point of senior IT 
professionals? 
 

A. managing storage growth 

B. data mobility 



C. regulatory compliance 

D. vendor management 

 
Answer: A 
 
 
QUESTION 6 
In addition to SAS, which two connectivity protocol options are available for the IBM DS3500? 
(Choose two.) 
 

A. Fibre Channel 

B. iSCSI 

C. NFS 

D. CIFS 

 
Answer: AB 
 
 
QUESTION 7 
What is a difference between the DS5300 and the DS5100? 
 

A. The DS5300 has a higher performance controller. 

B. The DS5300 has a higher maximum capacity. 

C. The DS5300 supports more interface connectivity options. 

D. The DS5300 has a larger maximum data cache. 

 
Answer: D 
 
 
QUESTION 8 
Which two features most differentiate IBM SONAS from competing offerings? (Choose two.) 
 

A. single file system 

B. high performance scan engine 

C. grid architecture 

D. usable capacity in the petabytes 

 
Answer: AB 
 


